| &
CUET Admission Test 2010-2011

0l. k-93 @M IR ST x°+y° +kx +2y+25=0, 380 x v = w37
(a) S (b) =5 (c) 10 (d) None of these

2
srdE: (¢); 24/g” —c =0 ::rg?‘:c ::-(E) =25 :~E;-_I-5 S k=10

2 2
@FHa y TEE (2)ve, k(+)ve or (—)ve 9 T BIEGT I@ AISTE FM, G G20! IE ATSAT T 9L A9
7301 AT OO y ANCATT AT 7 |
02. 9x2—-16y> —36x—32y—124=0 Fqwa Ffoe @@ & Fomr s [ Ans: a]
(a) wf¥g@ (b) ©*3a (c) #AgE (d) None of these
03.* 0.3+0.03+0.003+.......... .+ 00 «rIG7 T+ facfy =91 |
(a) 10/3 (b) 3 (c) 1/3 (d) None of these

TgE: (¢); S=0.3+0.03+0.003+.......... .. + 00

320_3’1.:9-_{)_3:0_1 g B 03 1

03 . -t I=01 3
. —1
Shorteut: 0.n+0.0n+0.00n+........S A

s >
04. 'ﬂﬁ‘f{x){x X, x‘z,m f(2)+f(-2) a9 9 2J -
Xx+2, xZ2
(@) 0 (b) =2 (c) 2 (d) None of these

srgr: (b): £(2)=2°-3.2=4-6=-2
f(-2)=-2+2=0 -.f2)+f(-2)=—2+0=-2
05. (1+3x)'"" @afe~efers 5 ©w @ 6 ©F W 5 A X 9T TF F?
(a) 2/5 (b) 1/3 (c) 8/25 (d) None of these
s (d); 5 wwom = '°C,.1'"%.(3x)* ='°C,.3%x*
6 o om = °C..1"°,(3x)° ='°C,.3°%°

| C,x3 5 \
W. ]ﬂc4.34x4 i ]nC5.35 Xj v “}C4 > : 1
s X3 18
06. 'THESIS' *=ba afaf zre afearm 4 G 3 W oifde s sigan faefa <2
(a) 10 (b) 11 (c) 9 (d) None of these

sy (b); FeEre aferar e <=1 787 ¢

() 3% S, 73l feg =f 1 .. s = ='C, x *C, =6
(i) «fef =% fog | ;. AR WA =°C, =5

S B ST AT =6+5=11

07. w5 o837 P=2i-3j—k 4R Q=1i+4j—2k a@l f5© ITerea B9 U< aTH (97 F97

| P — ] .-
21+3)+11k b) — (31+)-3k

(ﬂ)m(ﬁﬁ <) ()\/ﬁ(lﬂ )
(c) —J;:I (i—7j+k) (d) None of these

s | o |




08.

09.

10.

11.

12.

R

KUET, CUET, RUET & 8 JIH1d

1 J k
TeE: (d); PxQ=(2 -3 —1 =i(6+4)+j(-1+4)+k(8+3) =101+3j+11k
1 4 -2
=~ —*_‘/ 2, A2 2 : ﬁx_d 1 Tt
IPxQ=VI0"+3°+11° =4/230 .. e ess eoq =+ —— < — 4+ (10i +3j+11k)
IPxQ| /230
2 0 0
4 6 12 [=0 T X -99 9 ¢ JJ?
X—-8 —x-3 -x-10
(a) 4 (b) —16/3 (c) 17 (d) None of these
2 0 0 |
6 12 I 2
ANGE: (a); | 4 6 12 |=0 =2 1=0 = =0
-Xx—-3 —x-10 X+3 x+10
X—8 —-x-3 —-x-10

= x+10*—.2x—6=0 =>4-x=0 ..x=4

m &9 T FS T (m” —3) x? +3mx + (B3m+1) =0 AT TENGTEAT 717 Sr7 T2

1

(a) 4 or —1 (b) —4 or +1 (c) 2 or —1 (d) None of these
AL (a); TS, ARSI AT TG o @ >
o

I 3m+l1 2 2
oL — = = m"-3=3m+] > m°-3m-4=0 = (m-4) (m+1)=0 .. m=4, —1]

o m’-3
s iy ;. [— &5

x+/(x% +1)

(a) sec”' x+C (b) cosec™'x +C (c) —x*Vx*=14+C  (d) None of these

g (d); «f3, x? +1=22 = 2xXdx =2zdz .. xdx =zdz
dx dz ]

z—1 {2 VA0 1 =]

I =-|. xdx =-[ EZdZ =J‘ 3 =—1ﬂ———+C =—In +C
xWx2+D) kx24T @-Dz T22-1 2 z+4] 2 IxP+1+1

WM y=1/X W oR@ y 97 20 ©F S@ATTI T5?

20! 20! I!
(ﬂ) '?{} (b) 7 (C) -%2—[ (d) None of these
X~ X X
g (b); v =l =x" - ¥, =(-1) x 2
X .
Y2 =(=1) (-2) x7 =(=1)*.2L.x7 =y, =(=1) (<2) (=3)x~* =(=1)*.3.x*
!
LY, =Dl x Ty = (=200 x 72 =—2%
X
X G99 ACATE -\/sin\/; GERC TR R Tl
(a) cosx = (b) sin Vx (c) cosx (d) None of these
4x/5in\/; : 4\/}{{:05\/; 4\/x5inv§

d , ' \/; 1 EDS'\/;
TAYE: (C); ——(\/Sll‘l\/;) = COSVE -
dx 2Jsin-v{; 24/x 4\/xsin«f;

I, | o |




' ST B egNed g T3 i ' KUET, CUET, RUET & 8 T4
n/2 | g .
13. Iﬂ sin” OcosO dO «g II7 T3-

(a) 1/4 (b) 1/5 (c) 1/6 (d) None of these

ST (C): jn sin’ ©cos0 do ¢, sin0=2z ..cos® dO=dz

= ;stz 0=0 T, z=0
— 6_1

[ - 0=" =1, z=1
6], 6 2

14, w=faaad &4 f;{f(sz —4)

(a) X +c (b) LU +c (c) AL +c. (d) None of these
3{/(53{2 —4) 3#(5}{2 —4)°

Y (5x2 —4)?

d [3/z.2 d 2 . ‘% 10x
s (b): — (/5% —4 ) = —| (5x%2=4)3 | ==(5x>—4) ?.10x =
dx dx 3 3{/(5,;2_4)2

15. sec’(tan”'4)+tan®(sec”’ 3) a9 W FS?

(a) 5 ' (b) 25 (c) 7 (d) None of these

s14: (b); sec” (tan~' 4) + tan®(sec”' 3) =1+ tan” (tan~' 4) +sec®(sec”' 3)—1=4° +3° =16+9 =25
16. sin®+cosO=+/2 == 0 &3 W=-
(a) 30° (b) 45° (c) 60° (d) None of these

Tar4E: (b); sinO+cos0 = V2 = ——51nB+Lcn59—l — sin45° sin®+cos45° cosf =1

"2 J2
— cos(0—45°)=cos0° = 0-45°=0 .. 0=45°
17.  y-urwd Sofdfze @ Rrpete 7o 3y =4x —10 @3 o wfee oW jay 4 @3S T, O Od FAIT F97
(a) (0,10) and (0, —10/3) (b) (0, 10) and (0, 10/3) -
(c) (0, —10) and (0, 10/3) (d) None of these
srer: (c); S, g gwrE (0, b)
gwa @4, 4x —-3y—-10=0

%

40-3b-10 10
TS, | — =4 = -3b-10=20 = -3b=30,-10 ..b=-10, —
V1649 | 3

- foefa fegerea 3TE (O, -m),[o ?“]
18. @ W3 “=rea FAead fefy v, I AE (4, —3) [owe w1Fe, Toiraras 7 (0 4 @I T T
X -9CFG JAATSAE |
(a) y* —4x+6y+25=0 (b) x> —4y—8x+4=0
(c) y"—16x+6y+73=0 (d) None of these
TCA: (a); X SCF AT GHRER @ ~[geed T, (y—q)? =4a(x —p)
. foeefa orarquas s, (y +3)" =4 (x—4)
= y>+6y+9=4x—-16 = y* —4x+6y+25=0

TR | - | ST N




BT 35 epyames } .@;} i | KUET, CUET, RUET 29 8 FT4T

19. aaﬁfﬂmmeﬁmﬂ?rﬁasﬁwﬁr (1 1) (4, 4), (4,.8) 9= (1, 5) waammaﬁwﬁmmﬂ'
(a) 3J2 (b) 4 (c) J10 (d) None of these
STAA: (C); . AC =+/(1—4)% +(1—8)?

C .8
=/9+49 =./58 D“"”
BD =+/(4—1)2 +(4—-5)% =9+1 =10 AL °

:. @36 wefE T =410 |
20. 9T (@ 4900 . Tow fary 126 ffy/esr @t Sty 1@ sy @3fe @t cre e | o7 (@ 98T SeTe

LS B (1 I8 S O AT 79 99 (g =9.8 m/s?)?
(a) 1106.8 m (b) 553.4 m (c) 16602 m (d) None of these

Tq4E: (a); h = (ysinu)t+%g’[2 [ TR cFere A R ofi i)

::>4900=(355in0)xt+%x9.8xt2 = t* =1000

S t=31.623s . x=(ucosa)t=35xc0s0x31.623=1106.8m -
21. 93 Ay ffeg wreag 6 6 smr 3=, 7 % = o1 a3z 8 o w11 <= wiitx | MRS WG 95 wrA =4 | 9=’

FeT AT AMT T3 FERTST 21
(a) 7/21 (b) 13/21 (c) 6/21 ~ (d) None of these
STr: (b); P (T W1 37wT) =P (9T) +P (3T) _% ;lzg

22. ¥ a,beR, T |a—b| 97 T9 Fe?
(a) )||a|—|b]] (b) S|la|—|b]| (c) 2||la|—]|b] (d) None of these
F1: (); [a| =|(a—b) + bl < a—b|+[b =|a|—[b|<|a-b| .- bj—la|<|b—a|=]a—b]
H- 4 o -Hs-blsht 5 -<h-t

23, " gz m IE

(a) i (b) —1 (c) —1 (d) None of these
sangE: (b); i =1*".4% = _

24. (11.01), +(11.11), =(a),, T 'a' 97 - \
(a) 6 (b) 7 (c) 5 (d) None of these

14 (b); 11.01
11.11

111.00 (111.00), =(7),,

25. _[H logx dx 9399 -
1
(a) log2 (b) 2log2 (c) 2log2-1 (d) None of these

TRYE: (C); I:_[lﬂgx dx =lngx_[dx—f[%(lﬂgx)_[dx:| dx =xlﬂgx—ji-_x.dx =xlogx—x

J.lzlngx dx =[xlﬂgx—x]]2 =(2log2-2)—(1logl-1) =2log2-1

TR, | o




i< @m eRganee ‘ ; &) § ,: KUET, CUET, RUET &3 38 14

dx
26. W= AT <a:
'[f:i::ts2 x+/1+ tan x
(a) 2J1+tanx +C  (b) V1+tanx +C (c) 2+/1+tan x (d) None of these
sec’ xdx
AAYE: (a); =|— =2\E+c =2\/l+tan +C
(8) '[c:ns 2 x+/1+ tanx 'll\/l+tanx I\E h
Shortcut: Ij% dx =2/f(x)+C
X

27. @ I T fermae 2 O e Iee dfed 3 O eoreEe 3 o IO IR0Ed WSS @ AT 5

(a) 30° (b) 120° (c) 60° (d) None of these

STt (c); P WIte 3919w o (it fmare =&, P2 + P2 +2P.Pcosa =3P.P
) 1
— 2P*cosa = P* = cosa = E =co0s60° .. a=60"°

28. 20 fw. MY @3t o6 W oo it IHa Toiw WTefiesm ARTRER IR | &AW b oEh T A a

ey Yo owiita Wom o @ 5 &, w7 ke | oo a1 SFw & a4 Im Taw 50 @& eTm
ST W | GUFE SFI0T ST A |

(a) 33.33 kg (b) 50 kg (c) 25 kg (d) Nune of these
. A 10 D Eﬁ—l .

s (b); WxOC=50xBC = Wx(10—5)=50x5 .. W=50 kg — wt ]

W

|

50

29. GG AT FTA GF0 AT 4T (T ©F 3 sec -G FCAT SAWCH (AR FCAT TOITST TS 8

(a) 14.72 m (b) 88.29 m (c) 44.15 m (d) None of these

FArgE: (¢); h=ut +%th =[)::-ct+%:x<‘_‘3‘.81:»t'3>2 =44.145m

30. 2i+aj—k @3 ai+ j+9k COFARH T T A 'a’ @ AF :
(a) 3 (b) -3 (c) 9 (d) None of these
sara: (a); (21 +aj—k).(ai+j+9k)=0 =>2a+a—-9=0 .. a=3

e

31. 100 ms™' @Ot T G o 2 m oF U ow @ QR SweTE ANy 50 ms”! @ el 2

100 ms™! @1 57y eferta sy AmTe Fo TR oF GRET e a2
(a) 2.67 m (b) 1.33m (c) 0.667 m (d) None of these

ANYE: (a); x=2+§=2.67 m

32. feoe forag R &z [ @3 99 241-

AAA

4Q2
20 %/% 20

4
_Q.( —i|
I 12V

(a) 7 amp (b) 0.75 amp (c) O amp (d) None of these

Jiow  SREETENEEE accmeen g




TR B8 epgIes
60

33.

34.

335.

36.

37.
38.

39.

40.

1740
AA

AA

40

AAA 1
AAA
6L

Fq14E: (a); :
1 <

|
1]

1 1]+
12V

AT FAFE 0T 9FF Breg G2 s 6000,1 S (AL O IR ST 59T A1 27 | ooy @y

12V

WY =1.714 Q3 .. I:%

12x10™ cm T @RT baw Sege i wafT R @2 o |

(a) 30° (b) 60°

(c) 15° (d) None of these

12

D ——

1.714

; @ i; KUET, CUET, RUET X 8 TSI<T

—
—

AMYE: (a); dsinO=nA = 12x107> x1072 xsin9=lx6000x1[}“m = sin9=% s 0=30°

e e = 20 .~ weEifis e = 0 = 30°
1.5x10° gm =7 93 fres AL TS S AR YA W | St T 1w oreesar 1w way

1.2 ms™ @3 wedles 3.0x10% N/m? 2ot sics sdfie e o7

(a) 3.7x107 m (b) 4.19x10> m (c) 4.33x10> m (d) None of these
TIgE: (b); SR I, F=mg
F1.5x10°x107 x (9.8 +1. |
S A=—= Par el 2(98+1 2):5.Sx10'5 St =5.5x10" r=4.19x10"m
P 3x10
T BT @1 AT 7 (A2
(a) X—ray (b) TS AfH (c) wietaeat af¥ (d) All of these
e eifoTeTs O @B e AR 60° @I Wioife® ZrA 4 ST Wy e @ 12° =nemr ¢ore |
AT AT (@1 ey o7 )
(a) 13.5° (b) 76.5° (c) 4.16° (d) None of these
sier: (b); tan =S 81000 o ¢ co
sintr  sinl2
TS e ZeT:
(a) p¥e =@l Freny faffe oo (b) 75 =l ST WHHe 37
(C) P9 QNI TSI WHHS 27 (d) 3% 7RI e Rl =0
4T A 0°C Atz 20°C S o a7 20 O @7 SHe-
(a) T (b) ITT
(C) YTT ICT A2 *[TF AT (d) *f=ET 7 =

2fSfe 10~ m <1 ¥ =fRw 1000 T T ficer @af® Jzx BT 0ot <t | e B APTE 7w
(d) None of these
107

(a) 10 m (b) 1/10 m
4 4

T (c); — R’ =nx~3-m'3 = R’ =nxr’ :10{]0:{(

3

a3 60 W a7 tagfes afs s 100V 9T I YO ONE CERGIET Ty Fifits e war =) @
CSIFBREIE 0.5 BT BfER &AM=a = FWRME 3.6x107 kg ©Mr e 227 | O Cagfos TEMRET S

ey =9 |

(2)3.29x107 kg C™" (b) 3.30x107 kg C™' ()3.33x107 kg C' (d) 3.31x10~ kg C -

(c) 5x10*m

1074
5 J SR =10x

=5x10"*m

[ Ans: d]

[ Ans: b]

[ Ans: c]



3Tfaafie BEg SRgIeE g @ E; S KUET, CUET, RUET &% 3 T4
60 '

P
FATYT: (C), P=VI.. I—§—m—0.6A, W="ZIt
W 3.6x107
It 0.6x0.5x3600
41. ffe wfesTr gat 980 cm/sec’ @R @6 7§ A& @ 11.2 km/sec | 37 Ied T2

(a) 6400 km (b) 640 km (c) 64000 km (d) None of these

sgm: (a); Ve =+/2g8R = Vi~ =2gR
SR = V—Ez = (112 x103)_22 =6.4%x10°m = 6400 km
2g¢  2x980x10
42. OB FEET @EFIE 2 sec G @ | T O (viwe 20 sec 81T B | OF G o IS ARRST T 0w
2 sec (ATETFITE Jeed?
(a) 2.0046% (b) 0.046% (c) 199% (d) None of these
Fgi: (b); ArEdt 86400 GRS 7T ¥ (86400-20) ctds =86380 CNFT
86400

86380

. 2 2
T_L_L_(T =(2'”°°463] —1.000463
TZ LZ L] Tl 2

-, ey *rear Afaeed = (1.000463—-1)x100% =0.0463%

43. @ IfE 50 cm 9T IT HACY I® B (S AR AT @ JFE IW 25 cm FRGT IE BT (TS B O
TS FAGE (&1 FIUF FACS A?

=3.33x1077 kgC™'

x2=2.000463s

(a) +2 Dioptre (b) —2 Dioptre (c) —2.5 Dioptre (d) +2.5 Dioptre
1 101 ] | 1 | :
sgE: (a); —=—+— =——+— .. f=50cm=0.5m ..P=—-—=—=+2 Dioptre
@ 5=y TTs07 25 £ 05 1
44. I 6 *= Fq 1 TSI @61 %R FNTET A5 o w1 I @I JEw IR I T = o A
FE (P JA? [Ans: d]
(a) 3@ =W - (b)yFm AW
(c) 932 AT (d) 3w (oIS AT I FCAS QTS AT
45. 25 100 watt, 230 V g fifee siegam e <&@ @@ 230 V@ F@ gwie 90T 9 giod Afere =&
FS?
(a) 200 W (b) 100 W (c) 50 W (d) None of these
2 2 .
SFER: (€); R =~ =220 _ 5200
P 100
v 230°
. Tfsre 2@ gead R +R =1058Q .'.W@=E=1058=50w
46. ofEe farewe afemy @m Gifee smeda 1 gm 9o WA I% Fa0e (@ AR 518 31 e uarew & O T
z4- | Ans: b]

(a) 965 Coulomb . (b) 96500 Coulomb (c) 2100 Coulomb  (d) 4.47 Coulomb
47. o —decay @aEm 5 AT 1 gm @R 2.1 mg wwae 2 | @fSaTs wdy Fdr w9
(a) 1672 Years (b) 3888 Years (c) 777.6 Years (d) None of these

|ECCHR (| e

:r




CETTN | & {

g (d); N=N_e™ = — =™ :>1n( ] At =:-ln[ }=l><5
N N 1- 21:.f:103

4

S A=42044y" T, = '1?:‘1 =1648.6 year

Fod | =

48. 7o 42 @E T T AfS GIF crawa o e wremifes S 256:1 1 gofow e 1600 K =&
SARbE SIAYE FO?

(a) 400 K (b) 6400 K (c) 400°C (d) None of these

4 4 T
TR (a); }% =UT'4 -, 226 _[1600) % _ ST, = 1600
E, oT, 1 T, 1600 4

49. 30 m THST (AT AT IWE {1 AT gre e @I ZA T oo faew =few faedt 2y
(a) 10 m (b) 25 m (c) 28 m (d) None of these
FYE: (a); W= <4, FUE Twer x

|
@37, E, =2E :Emv2=2xmgx = mx2g(h—x)=4mgx = h—-x=2x

= 400K

};:E=£=lﬂm
3 3
Shortcurt: x:’h [uheren=£"—]
|+ n E

p .
50. 2.0 m WY @3 =79 srRE @3B 180 pT GIEF AR GRS CF@R A TNaed 30 m/sec @0 AT
7 | O [[RYIR 5IES I AT JNA?

(a) 180 mV (b) 10.8 mV (c) 3mV (d) None of these
g (b); E=Blvsin® =180x10°x2x30xsin90 =0.0108v =10.8 mv
51. @3 qC AFRCACAT ACATF WER @R 0.6 ST AR | GFG 74F AeEsars 3209 o9 1 m wifaster 33 |

Tefbe e o fadfr =7 |
(a) 1.25 m (b) 0.8 m (c) .09 m (d) None of these
A (a), L=L, l—v—.: :~..-1=Lﬂ:,\/l—[0"ﬁi C]h =L, = : =1.25
c? c J1-0.36
52. @36 PN we<ita wtr 400 mA @ﬁq&ﬂmﬂﬁﬂﬁawaaﬁm 0.1 V fq=9 =iftese sifagsy = |
34 (@14 97
(a) 0.25 Q (b) 0.3 Q (c) 0.15Q (d) 0.35Q
Y (a); R=£ = L ;7 =0.25Q
Al 400x10° .
53. T @St @02 [Ans: c]
(a) Y'1=0and » IR =0 (b) D IR=0and Y R=>E
(c) leﬂand Z'R=ZE (d) ZR={}and ZI=U

54, @3 G GrTaiEs ofiF Fod o9 AR o of@ f1E (rms) 9 100 V | ©% 3991 13 ot
5 ohm @r¢ @ F1 Zre1 R &<z MEww o 222

(a) 20 amp - (b) 28.28 amp (c) 14.14 amp (d) None of these

STR: (b); lmzvﬁ"“ =1{5]0=20A “ 1, =1 x+2=28284 A

0

Qe

oo




TR | gy (0 ST

55. b ffen “Mda 4o O idy G T 1N TR | O FT WP WA 211 0T O 7T STefn

@A TS =77 -
(a) 1:4 (b) 4:1 (c) 1:1 (d) All of these

RA,
Wﬂ'ﬁ(b) pl= L =A]=l'12 =i Py iP =4-] ['.'pDCI'E]

| P> E‘i‘-’ A, 1'32 l I
L
56. 93 AT e 500 K Srow@s sref TF zre 1250 ] ot a2t 038 ©ref aizeE 700 ] o I8 307 |

I XA SNl F67
(a) 550K (b) 8929 K (c) 280K (d) None of these
sr: (c); L= =, 200 1250 p_ogok

T, Q, T, 700
57. a3 BFl OIEd o) “faaST T I 9T T AT B 4 o T T | AT FUANET O AfGI0T 7

(a) 4 times (b) 2 times (c) Will remain same (d) None of these
st (b); T, =4T,, 2= |22 _9 - § —2f =2times; Af=2f, —f, =f, [ f o V]
f‘I Tl )
58. a3 ST Q@Y T I | [ Ans: d]
(a) Wheatstone bridghe (b) Meter bridge
(c) Post office box (d) All of these
59. I &0 I (@ e IR T BT 2 [ Ans: a]
(a) SR ool 7@ (b) FEoT= sifeq &3 7@
(c) wfsad 5@ (d) None of these
60. @0 TM-a7 M-y +Ar=FE T gfoa TSt 779 1.9 mm 9 T = | m e @@ &% 0.31 mm |
A Saq% oy e 39 |
O O
(a) 5890 A (b) 2945 A (c) 1631.5x10°m  (d) None of these
(A Av — 2D -3 _ ___Ax1 _
Trr: (d); Ax = — = 0.31 x 10 ———— = A = 117804

61. @ FEFeAw AN Resgd g 1 L #fee 0.030 mg e =inedtt (o1 | & #nface sneifaes ewiar 392

(a) 30 ppb (b) 300 ppb (c) 30 ppm (d) 300 ppm [Ans: c]
62. 100ml 0.1M JTFTE BT F© AT YLIE HITR?

(a) 180 ¢ - (b) 18 ¢g (c)18¢g (d) None of these

st (c); 100ml 0.1M grere = 199%01 o) g Z100%01 20 greme = 1,89

1000 1000
63.* 27°C stom@m fZa st CH, @7 767 @@t —74.89 kJ / mol =01 5@ wiwrees @3 8% I 397
(@) =699 kl/mol  (b) —=72.39kl/mol (c) —79.87 kJ/mol  (d) None of these

srdr: (a); CHy(g) + 20,(g) — CO,(g) + 2H,0(1)
~An=1-3,—-2 . Qp = Qy + AnRT
—74.89 = Qy + (—2) x (8.314 x 107*) x 300 -~ Qy = —69.9kJmol~! (Ans.)

IR | | ST
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64. o @G 9o wfoer A2 | [ Ans: b]
(a) CH; -CO-Cl  (b) Ag(NH,),Cl (c) Ca(OCIH)CI (d) None of these
65. I FTTH ICT YA@IEH WA T99 3.3x107°M (A @ 357 pH o7
(a) 2.00 (b) 1.48 (c) 4.48 (d) 2.18
st (b); p' =—log [H'] = —log(3.3x1072) =1.482
66. ST T NS @R A ST 7T IR @I QAlesa? [ Ans: a]
(a) Silicon (b) Magnesium (c) Phosphorous' (d) None of these
67. STP & 2.5L CO, =it ¥oit &g Rmyaie? |
(a) 5.71x10% (b) 6.72x10% (c) 6.023x10% (d) None of these
s: (d); 2.5L €O, =2 mol
224
CO, = 22?:;:{6.023:-:1033 molecules =6.722x10* molecules
68. b BT FeIE SHGF T 80 IeCe JAT; 93 iy, T Teeg- [ Ans: b]
(a) 80% n-Hexane and 20% iso-octane (b) 20% n-Heptane and 80% iso-octane
(c) 20% n-Pentane and 80% iso-octane (d) None of these
69. 1.5 g T & AT 7RA I Teoly CO, @ WIS TN AIGH T2
(a) 1.04 L (b) 0.763 L (c) 2.8 L (d) None of these
TEE: (¢); C+0, —» CO,
126 224L (STP ®) .. 1.5g 4 Wwaw Bofg col=%xzz.4L=z.3L
70. 0.IN H,SO, @3t cenfafe 3@ 232
(a) M/5 (b) M/10 (c) M/20 (d) None of these
areE: (c); 0.1N H,SO, :EZ'TIMHESO,# =%I—IESO4 [.. H,SO, aa ¥y 2]
71. TE0 FECers SHR? [Ans: d]
(a) PbO, (b) BaO, ~ (c) Fe,0, (d) None of these
72. w@EB Kr a3 g [Raee ‘ [Ans: b]
(a) 1s*2s*2p°®3s%3p$ (b) 1s*2s*2p°®3s?3p©3d'%4s24p°
(c) 1s°2s°2p°3s?3p®3d'%4s24p®4d'°5s25p®  (d) None of these
73. 400°C wrmm@m N, +3H, < 2NH, Rfewm s K. @3 w9 0.5 20 K, @3 37 3 32
(R =0.0821 Lit atm K™'mol™)
(a) 0.00016 atm (b) 0.00906 atm (c) 27.59 atm (d) None of these
T (a); An = 2—(3+1)=-2; K =K_(RT)™ =0.5x(0.0821x673) =0.000164 atm
74. 0.0001 M HCI 5t pH @5 v <ve?

(a) 4.0 (b) 3.0 (c) 3.5 (d) None of these
sargE: pt =—log[H*] = —10g(0.0001) = 4
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75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

CaCl, 9953 25.0 mA Sfgr 60 sec 403 TS a1 T Fofb Ca AAANY EGITS STl F(A?

(a) 4.68x10'® (b) 9.36x10'® (c) 9.36x10%° (d) None of these
Mt \WY i

AJugE: (a); W=——— .. n=—= L =25x10 x60=7.772x104m01
xF M xF  2x96500

soSgE WA = 7.772x107° % 6.023% 107 =4.68%10'®
5.0 amp ©fee 60 min 4@ CuSO , H3ta 54y e st Face & s 3+ o 2032

(a) 0.987 g (b) 5.922 ¢ (c) 59.22 ¢ - (d) None of these
e (b): W =£I£ _ 63.5x5x60x60 = 5.922¢
xF 2x96500
SIECRIRE FHS A9 &) Wod @ [Reael e sar @y [ Ans: c]
(a) Bt Rz (b) f&o=re s (c) T Reree (d) None of these
@G ARAR-GrIy fafemare | [ Ans: c]

(2) (O )Nyl + H—O )~ OHTE2E, (O )~ N=N—O )~ OH + HCl
(b) 6 CO )—OH + 2FeCl,——> @—(:El ¢Fe, + 6HCI
(¢) (O )—OH + CHCl + NaOH —— @- OH + NaCl + H,0

CHO

(d) None of these
H,0+NH, =NH,” + OH™ ffenfors «nfa sfi e [ Ans: a]
(a) &= (b) == (c) ==eors (d) None of these
WCHIES CONGIERIT CoteTa SHAMMGTA] FRIIFAT ! TH (FI] Ao ore? [ Ans: b]
(a) =TS (b) T “Ares (c) Tmeirew (d) I irew
e @ A B [Reea A SYrFs (a1 FAS 2AA? [ Ans: b]
(a) CH,COOH (b) CHOH (c) (CH,CO)CO (d) None of these
- e Agee @Eh? [ Ans: c]
(a) CCl; —NO, (b) CCl;-SO, - (c) CCl;—-NO, (d) CCl, —NO
80 g fFofee wwRers fReifae Fare STP (v o o favs JI@ITE™ AT 2012
(a) 22.54 L (b) 22.40 L (c) 2632 L (d) None of these
Fa1gE: (a); CuO + H, - Cu+H,0

79.5 224

c. AT H, = 789”5 x224L =22.54L

MR HIT pH @3 9 3.6 TETHIA0T [H] @ 79 @=io?

(a) 2.51x107 mol/L (b) 2.51x10~° mol/L (c) 2.51x10~ mol/L (d) None of these

s (c); pH =—log[H'] .~.[H*]=10" =10"2¢=2.512x10"* mol/L

H —CHO + NaOH = CH,OH + HCOONa f& «ata faferar? [ Ans: c]
(a) I e (b) farsere fafema (c) wrifvetar fafewmat (d) None of these
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86.

87.

88.

89.

90.

91.

92.

93

94,

95.

96.

aFoi- [ITA 99 QePTRs 741ReE =& Saa e [ 24 [ Ans: c]
(a) ns’np’ (b) ns’np” (c) ns*np' (d) None of these
7 RS @M 936 /s I e T e S 20 wfaead {eT @re am, FEe- [ Ans: a]

(a) FefFmmoE At (b) ARG WA ACT  (C) WIT W AT (d) None of these

srargiA: Effective nuclear charge increases. Effective nuclear charge means the net possitive charge
expericed by valence electron.

3.8g NaOH fiteioea #ftfate getge 23 500 mL 339 0o 41 29 | @¥® NaOH Harid Taal 392

(a) 0.19 M (b) 0.019 M (c) 0.00I19M (d) None of these
JAqIYE: (a); 999@r = 3'8}c 1000:{].19 M
40 500
P Glite siramelfas S 31 @3 masrf{ss s 15 = ciefos FefFaem s wu Fegy wite?
(a) 15 (b) 16 (c) 31 | (d) None of these
HATI: 08 AT = AT Sa-+faefas =g =31-15=16 |
FHEE e W - | Ans: b]
(a) I=E—E Qe (b) D.D.T. (c) TFaF (d) None of these

" H,S0,
—_— Cl— ¢ —Cc—H +1,0

I I
LO—C —Cc=0
) | I |
Cl Cl
i @
Cl

AT

Cl

D.O.T

Choose correct “indirect speech” for the following “direct speech” [Ans : b]
He said, “I shall start tomorrow”

(a) He said that he would start tomorrow (b) He said that he should start the next day -

(c) He said that he should start tomorrow (d) He said that he started tomorrow

Choose the appropriate preposition to fill in the blank for the following sentence. [Ans : d]
“Find out the clue the mystery.”

(a) of (b) for (c) in ‘ (d) to

Choose the synonym of the following word/verbal idiom. [Ans : d]
“Take over for”

(a) Receive (b) Talk over (c) Submit (d) Substitute for

Find the correct sentence from the following sentences. [Ans : a]

(a) Do you know who I am?

(b) How you can do 1t?

(c) Tell me how are you?

(d) Do you know with whom you are speaking?

Choose the antonym of the following word/verbal idiom. “Care for” [Ans : a]
(a) Dislike (b) Support (c) Provide for (d) Like

Find out the incorrect sentence from the following sentences. [Ans : c]
(a) The book belongs to me. (b) He told me to go there.

(c) Why you did 1t? (d) I hope you will come.

R | (ST
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97. Choose the correct “passive voice” for the following “active voice”. [Ans : a]
“I see her every summer”,
(a) She 1s seen by me every summer (b) She sees me every summer
(c) Every summer she sees me (d) None of them

98. Select the complex sentence from the following sentences. [Ans : d]
(a) I called him without getting his answer  (b) I called him but he did not answer
(c) He did not answer to my call (d) Though I called him, he did not answer

99. Choose phrase that best completes the sentence. [Ans : d]

, he would have been able to pass the admission test. '

(a) If he studied more (b) If he were studying to a greater degree
(c) Studying more (d) Had he studied more

100. The word “defying” is closet in meaning to : [Ans : c]
(a) Altering (b) Defecting (c) Disregarding (d) Defending

0l. @<fo BF 60m THOE G IO = ToF 2te 40 m/sec QT S 5x 0° T (ST =H, FOqT
a3 I Gt e = nf 31

AT ST &0, h—lgt

\]7 ||2><6 sec =3.5 sec ¥R x=ut =(40x3.5 m =140m (S=)

0 — _
02. o A=|%Y SN0 o (and) a2 L[ V3 . @ @7 T et <o
smO cosH AR
s A — Ap —|C0S0 —sin®] [cos® —sin0] [cos’@—sin’® —2sincosO
| sin@  cos@] [sin® cosB| |2cosBsin®  cos’O-—sin’O
L E |
H_E, A = 2 2 v
Vil
2 2
] s T

;. c0s°0—sin’ B = 5 ql, cos20 =cos60° —casg a1, 20 =2mri-§ c 0= n:rrirg (Ans.)

03. fEa AT @ (I 9fS T AT %77 0T Ao S F26 Jera T fefar v ¢
8x* —2x° —27x> +6x+9=0 |
1

2
Sol”: ¢, TG =T a,—o, B 8 y. O, [1—{1+B+7=§=% , B+ :E
-6 3 3 l 3 . 2
WREA, —a’pf - uy+[1]3y afy=— T, —a’PB+y)=—= M a’x—== - o’=3
g 4 4 4
9 9 3 | 3
AR —a’By== 9, =3PBy== 9, By=—= ORI, B+y=—; =—=
o Py=2 PY =2 Pr=—2 Pry=75 By g

Jiow SEEREERE




